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l J.J �I w:..JI

.,Lll_;yS' � JLo J.,_b J.L. L?� d..4-y J CaC03 r�l(JI ..:.,u�fi 0-4 m = 2g � � 

�l...i..JI C�, �l...i..JI J)l;. CO2 jl.l. � C = 0,Smol/l J�I ofi..}J V = 100ml � (H30+ 
+ Cl-)(aq)

: �WI d..bW4 .:...)WI J�I 
CaC03

(s) 
+ 2H30+ (aq) = Caz+ (aq) + C02C9) + 3H20cl)

�1..o.1.A � �1�)'1 o.)Ll\ W � -1 
...1..> ·\�\ 1-Li:...ll •·• I X _t.:.)il ..La.1..11�.).J..> "1-1...i..JI ..la.1..1':ll ...1..>r�i -2 . j u l)-"- � j max � r . I""' � r !;} . ...,,--

: �Lilli �y J �i -3 
�lli:JI � ytJI J �WI C 02 0.J:�I �i JW Jl.l. � (i 

CaC03 d..kLi.:tl.l r�l(J\ ..:.,u�fi� ('-:-'

�l...i..JI �y J cz- , H30+ , Ca2+ .))�4 Jd .. i.111 �yl fi.__; (c 

M(Ca) = 40 gjmol , M(C) = 12 gjmol , M(O) = 16 gjmol :� 

:I �\:JI w:..JI I 
(S) JLo J.,_b j.L. � �I .,Lll 0-4 V = 100ml � J VHcl � J �JJ�\ JJ-IS' Jl.l. 0-4 W �

: �WI a1.)W4 � � J)b;':l/11-4-J cl.JI J�I �Li.....11 , C J�I &.S'_; HCl �JJ�I JJ-IS' � 
HCl + H2 O = H3 O + + cz-

�l..ill\ 1..y r..LilJI JJ� Ji.o -1 
� l�Ll. . J½�I J4-lli �u (S) Jjh.1.1 -2 

V �JC J� J_,11 fi._Jjl 4.J':ll--½ Xmax ��I r..ui...JI � � ,( o.)�) o�y, d..JWI o.lA J .,Ll,\ W -3 

�WI J (S) J� V �\ J Xmax ��\ r..la.1..11 d..J':ll--½ �l...i..JI �y J O"max �_,:JI �WI�� -4

il
H3

0+ j ilcz- �.)Jl../4.ll ��I 4-..,_JI 

amax = 42,63 mS /m LA� '-:-'--'"'li.o � d.b......,� �l...i..JI �y J J� 4-..,_JI �WI� -5 

Xmax ��\ r..la.1..11 (i 
J� C J_,11 fi.JJI ('-:-' 

(S) J_,.l=.JI J �I VHCl �JJ�\ _;_,JS' Jl.l. � (c
ilH30+ = 35 X 10-3 S. m2 . moz-1 , ilcz- = 7,63 X 10-3 S. m2 . moz-1 :� 
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r_,_-j.:...tt oJ..M _j �wt» , 4z �� t 4Jt o , , ,.:Gz t J.d . .&1 v-,!)., '-'1i<J-t� t.i.. �""°' 

LJ..u..4 0-4 m0 � '4,1) �, C J_,11 o_y.S'y (H3 o+ 
+ cz-)(aq) ioUI _.)� � 0-4 V = 100ml � J �

n(H3 0+)(mol) -01- �I J JiJ.I �I f-"'-J � �Li.A d..L� Jku...u.4' MB cs) ("Yfa\

0,01 

J \ : 4WI ��\ d.bl.J. 4 C .4-½ .:,..) WI J � \ Jyc:;JI

�
MB(s) + 2H30+ 

(aq) = M92+ 

(aq) + H2
(g) + H20([)

t 4-3?11 .:> o..i....S)U (Y.; ! a v::i •• I I �..) L.J. I 4' -1 

�Lilli l.u J lY.:1S).�\ (Ox/Red) �WJI �1-2

t-LilJI ..LU]� .1.> • •·i-3 

�

�

� �
t:

� (" ;) . {9-'IJ 

Xmax �SI\ r-..Li1..11 .:>CJ�\ fi.'_jU\ 0-4 J;' W � u�l uk- \..)ki£.\ -4

... m � -·- I • ...l.=LI 1-Li:tl.l ..)J.> -5
0 - � f-' � 

x(mmol) �lq:JI d..JWI J �Lill\ .b.....,_,.1.l J.J,ll �;JI ..)...l> -6

b..)Lo� .:,� -1-J(..UI
x r..1A.1J' d.J"}/J.i H3 o+

: I e:\)I ��\ I 
,,Ll\ u-,o 500ml {?� o_;.i>l.9 � , �)U\ .:,L....u.J\ .....ab.J.:i J c_J.y.dl � J (H2 02) ��\ ,,U\ � 

.[H202]0 = 0,83 mol � S0 (?_;�\ J_j-kl\ fi._;1 {?i 10V �i ,,IA ��..JI 4 �..1..> F S0 ��\
o..r4 SO S0 J.,_kll u,o �--¼.41: ..ill�.:> V1 = 200ml � S1 ..).4,o J� � -1

(?-J�I Jj-kll 0-41..9)\b..;I 51 ..).i..J.\ J.,_kll � �WI wLP,,-4-)1 fol 4WI wLP,,-4-)1 (Y.-! 0-4 o
JJ..tlJI t:° S0

50ml _.)� wl� �.>� �Lo .4ml _.)� .:,\��_.)��Lo �
500ml . .>� wl� �.P ,SOml .>� wl� �.P ,200ml .>� wl� �.P � 

J� 51 ..).i..J.\ J.,_kll 0-4 V = 10ml � ..r.!w �SIi ioll.1 o.>.:>)..9 uk- ��I ��...ul 0-4 £\.ill -2
J.J-1.1 ofi.y ½!..t..:> �I jfi_).1 w.,.fiJ\ � u,o w� �I (K+ 

+ Mn04) ("�G_wl wu.i.1.oy,

C2 = 8,3 X 10-3mol. z- 1 wu.i.1.4..fi..ll ..))�
� fi_).1 w.,.fiJI �.>_;>..)Lo (1

Jk � oy.l.J.1 o.U � Lo (":-'
wbWI d.g\5' � �fr J,!b� f-"'Y. 1;!.; •�4 oy.l.J.I o� �r.l J§yj.fi.,ll w� fi�i o 

�l...ul �WJI ui L..k .:,..)WI oy.l.J.1 �Li:; d..1..)1....A 4'.:> , o..i....SSII �Li:; j ..i....S}l.l ._jr (c
(02 / H202) , (Mn04 / Mn2+) L4A �Lilli J

t -LilJI ..Li.:i.J � J.>, • ·i (..)� (" ;) • [$'U,U 
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Vzeq = 8ml 

� cmWI � � �Lo t° ¼l.h.:iA LJl �y.l 1 �w.ll � (J 

: I uw4WI �_r-:JI I 
:�WI ��I d. .. bWI &J �LI.I t° � C4H9Cl �_y.JI �_}.I�� 

C4H9Ci (aq) + 2H2O(e) � C4H9-OH (aq) + H3O\aq) + c,f,-(aq)

,(�.)�)11 c)yJI w4,-.J.) J �G.,) C4H9Ci �_}.I 0-4 V0 = 20ml � J ,(c...Glj � �Ll.l 0-4 80ml _k J �

·<½U.l.1 c.)Ll.4 4i �I ofi.__; u-.J� (b-4 � J� �l..u.1.1.b)bJ.I � J
.u = 760mS.m-1�1 1� 1 --'�WI w ·1.-Jk..tl...,L..• � � • u-" • .J"t"':'" •

S JLo J� � u-..3� & : 09)-��\ 0-4 )K � Lo -1 
.,:d..=JI �1...wl r'..ui.1..l �J� �\ -2 

.__,.., _fa..)I t° , � I � Li.1.l I .)...l> -

.c.e-C.).)Ll...11 fi.__; d...l�--½ �WI t,?.).)Ll...11 Jjk..JJ cr �y.11 �WI C.)� ,J-9�1 � .)�)'4 •�ji -3 

-�Liill ��I ('...ui:JI Xmax :tj�� J� cr �y.11 �WI c.;� �) -4

. C4H9Ci �� n0 �l..u(?}I c.)Ll.1 W �I�, Xmax W �Ji -5 

-� � Jl�)'I J�I )1S';U\ W lo -
�LI.I J.t.Jb.l.l lP.-\ 0-4 �WI u-"4-9 � cy.WI � u = f ( C) �\ ,¼WI �w.ll � .)�)14 , f-"") -6 

-�.J4-l>) Jk , C4HgC.f � yJJ c.)-4.ll

:� 25°( c.J!yJI �.).) J c�y-L J.t.Jb.l.l �

: I �.)UI �_r-:JI I 

J, ��1 � �I_J: .:.ufll � cl�\ �1�1.i....£u:; lo..l.ll �j S02 jl.l. yJJ dj.,.U.1 wljWI � 0-4 

. 4: ��\�..Lt.I �1� ..:.i.,_L; -5..Lo a_g� , 20 X 10-6 g /m3 :)�I S02 W .:..�� I�) L;�JWI I� 0fi:

, 0j-1JI f:!..1£. (S0) J� ��-�LI.I J S02 �� • .fa-a.ti �Ll.l 0-4 250ml J �1.wl 0-4 2m3 � r'l.9 ��J

JJ.1.1 ofi.__; (K+ 
+ MnO4)r'�l.:i_,µI w�fl. 0.,_LII � (S) � Jj-1= �IY. (S0)Jjh.l.l .)-;!� �

C = 10-4 
mol. L-1

. �W.1 .:..LJ4-!-ll t° �I o..y l!b!b,;.:; '}K_j, f-"") S c.)-;!WI � ��J.;ll>I l�Ll. -1 

.�Lil.II d...l.)'-'-4 4'. (Mno4 (aq)/Mn�:
q)

). (soi(aq)/ so2(aq)) :.J cj;!W.1 Jd.a:J wlj-ll .:,l_?\..;ljl -2

.� _µ�1 d.b.....aJ Jl cj;!WI � J�J� J� � -3 
. 2n(S0

2
) = 5n(Mn04): ·�...u 0fi:_µ�1 � .ui �, r'..il:JI JJ� � b�! -4

. Ve= 8,8mL :� jj\S2zJI � w�.r.JI J� � 0i Lok, (S0 )Jj-k.1.I J S02 c.)Lo W �I o 
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: I �WI �_r-=:}I I 
t:JI .. �J..c�I J 4:!j.)�I � ,�b�I .b.F c...9')1;) ,w4Ll+JI .J½f I J �\ ;;�\ .:.�I u,,o i..ya..JI � 

� �..l=JI u,,o wbj�?JI Jl..w?J �l..lA lbJ� � u�Y- � ��I J iolll .)y-J � �..l=JI i..t.+a ..:,� j 

--4.J;JI J;""� ��\ 

wl.d .. uo 6 .)j_;-4 .b..! �W.I �I --4� j:� d..t?,y �..l=JI u,,o � d..p,� �G.) J) ()>�II.u c...9-¼,: 

Jk � i..ya..J1 � J ctr r\ �Y �..t=JI JA> .1 

� t4-.;J ri ;;� �Stl ..:...1.> 1..o JA> .2 

q •.,•<LlJ.I: .... ;,'.\..illl ·\L.,k..:..)WI Ll.i,illd....Jb�la ... bWI ',tl:,.'ulao...L....6Stl: .. ;.,; cdl ··•1.)W\� .3� �.) v.:-;;- U � .. . , f-' ,:)(u J v� .. S <..J:'-' • 

(Fe2+ /Fe) , (02 / H20) : Wl �Lilli 

o.)....l.4jJ 5ml <t..1..o ..b-4 f1 V0 = 100ml � Fe2+ u,,o �� ¼--4 �J �J.J..U.I �I ..b-G ,.:.Ld......, 6 Jj_;-4 .b..! 

1 J-:!-"-"l.i y.JI w � � J_,kA � � o .)':! W � H 2 SO 4 j5}. I w..,fll � 0-4 w 1µ dJ � J w !;-,o 10 

Cb = 2 X 10- 5mol/l JJ.ll o»_;; (K+ 
+ Mn04)

.20ml � �\ d.>L:.......JI J vb = 11ml � '°� � j-9�\ � � 

� o.)':!WI J+g Jjk.l\ .)....l.4j l�ll J �fi.).I -:,.,fl\�� l�Ll. .4 

f-"")I �;;
.)':!

���I J§yJ�I p�I .5 

;;.)':!WI �l.o:i �l...a..> p�I .6 

: Wl �L...ill �WI 0\ � ..:..)WI J.c.Li:ill �4)11 d.J.)W\ � •t4-.J�I J ;;�SI.J Lti!o scdl �.)WI 4' .7 

(Fe3+ /Fez+ ) , (Mno; /Mnz+) 

..9-9�Ic...9r .8 

C0 ��I »fll �I f1 .)-4.l\ Fez+ �..l=JI .)� fi.y �\ � j-9�1 �)k uA� .9 

�I J.c.Li:i...l.l .JA Fez+ 0i L..k j ,(1) a.J.)WI r.ti:i Jj� � .)��� .10 

m(Fe
2
0

3
) = �C0 V0 X M(Fe2 03) 0\ � (i 

2 

�I \..ya.JI� �I ('7' 

W� �I o..u JA>, 10mg <.f .:.Ld .. uo 6 J)l;. ¼-: c�I �I \..ya.JI� 0� iou.µI .bj� � 

� JL..u:u.,'}IJ ' 

M(O) = 16g/mol , M(Fe) = 569/mol :� 
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